## **DEPARTMENT 63 – JUVENILE ARTS & HOBBIES**

## **DEPARTMENT 43 – ADULT ARTS & HOBBIES**

Superintendents: Carrie Trinkle (734)368-1556, Sheri Spears (734)320-3929 & Michelle DeFant (734)433-0165, Lsophiajewels@hotmail.com

- 1. Please read general rules and regulations beginning on page 13.
- 2. Exhibits are to be entered Sunday prior to Fair between 9:00 a.m. and 5:00 p.m.
- 3. Judging will be on Monday prior to Fair. No one will be allowed in the department during judging.
- 4. One exhibit per class, per exhibitor.
- 5. All exhibits must be done by exhibitor during the past year.
- 6. All entries, which include more than one piece, must be mounted on a moveable base.

7. All exhibits may NOT exceed <u>18 inches x 18 inches x 18 inches in size</u>, excluding paintings and drawings.

8. All Gift Wrap must be original artwork of exhibitor - NO store bought wrapping paper.

- 9. All paintings/drawings should not exceed 18" x 24", including mounting. No frames allowed.
- 10. Model planes, cars, etc. must be sanded, glued and painted by exhibitor.
- 11. Scenes/dioramas or a group of models or figures must be mounted on a base, depicting a scene.
- 12. Collections are 20 (twenty) items or less and must be on a moveable base.

13. The Chelsea Community Fair nor its' Superintendents are responsible for lost, stolen or broken exhibits.

14. ALL EXHIBITS must remain on display until 9:00 a.m. on Sunday following Fair.

15. NO nudity paintings.

16. Please pick up exhibits between 9:00 a.m. and 11:00 a.m. on Sunday following Fair.

Exhibits left past 11:00 a.m. will be dispensed at Superintendent's discretion. Learning Objective: To encourage and develop expression, through art.

## **BEGINNERS (3-5 years) ARTS & HOBBIES (NO FRAMES)**

<b>Item No.</b> 63502 63503 63504 63505 63506 63507 63508 63509 63510 63511 63512 63513 63514 63515 63516 63517 63516 63517 63518 63519 63520 63521 63522 63523 63523	Description: Construction Paper Blown Glass Free Hand Pencil - No Color Free Hand Marker Free Hand Color - Crayon or Pencil Free Hand Chalk Painting Finger Painting Clay / Dough Modeling Sun Catcher Watercolor Painting Foam Art Misc. Craft Recyclable Craft Coloring Book Stenciling / Stamp or Prints Sand Art Bead Work Decoration Scene / Diorama (NO Legos) Single Lego Object - NO diorama (NO kit) Lego Kit	<u>1st</u> \$4.00	<b>2nd</b> \$3.00	<b>3rd</b> \$2.00	<b>4th</b> \$1.00
--	---	--	--	--	--

## **DEPARTMENT 63 - BEGINNERS' ART & HOBBIES (con't)**

<u>ltem No.</u>	Description:	<u>1st</u>	<u>2nd</u>	<u>3rd</u>	<u>4th</u>
63525 63526 63527 63528 63529 63530 63531 63532 63533 63533 63535 63535 63536 63537	Pearler Beads - 1 item Pearler Beads - 3 or more items Rainbow Loom - 1 item Rainbow Loom - 3 or more items Single Duct Tape Item String Art Collections Other blocks Gift Wrapping - Birthday Gift Wrapping - Holiday Gift Wrapping - Shower/ Wedding/ Baby Gift Wrapping - Most Unusual CHAMPION BEGINNERS' HOBBIES	\$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00	\$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00	\$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00	\$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00

\* Item 63514 only open to items that can't be entered in 63502-63537 \* Gift wrapping MUST be original to exhibitor.

## **DEPARTMENT 63 - CHILDREN (6-8 years) ARTS & HOBBIES (NO FRAMES)**

<u>ltem No.</u>	Description:	<u>1st</u>	<u>2nd</u>	<u>3rd</u>	<u>4th</u>
63602 63603 63604 63605	Oil, Acrylic, or Tempera Painting Stenciling, Stamp/Sponge Clothes Painting Free Hand Sketches - Pencil, no color	\$4.00 \$4.00 \$4.00 \$4.00	\$3.00 \$3.00 \$3.00 \$3.00	\$2.00 \$2.00 \$2.00 \$2.00	\$1.00 \$1.00 \$1.00 \$1.00
63606 63607 63608 63609	Free Hand Sketches - Ink, no color Free Hand Sketches - Color Free Hand Hand Sketches - Chalk Watercolor Painting	\$4.00 \$4.00 \$4.00 \$4.00	\$3.00 \$3.00 \$3.00 \$3.00 \$3.00	\$2.00 \$2.00 \$2.00 \$2.00 \$2.00	\$1.00 \$1.00 \$1.00 \$1.00 \$1.00
63610 63611 63612	Ceramics Sun Catcher Sandcasting / SandArt	\$4.00 \$4.00 \$4.00	\$3.00 \$3.00 \$3.00	\$2.00 \$2.00 \$2.00	\$1.00 \$1.00 \$1.00
63613 63614 63615 63616	Clay - Fired Clay - Not Fired Construction Paper Waxcraft	\$4.00 \$4.00 \$4.00 \$4.00	\$3.00 \$3.00 \$3.00 \$3.00 \$3.00	\$2.00 \$2.00 \$2.00 \$2.00	\$1.00 \$1.00 \$1.00 \$1.00
63617 63618 63619 63620	Woodcraft - NO kit Woodcraft - Kit Leathercraft Weaving	\$4.00 \$4.00 \$4.00 \$4.00	\$3.00 \$3.00 \$3.00 \$3.00	\$2.00 \$2.00 \$2.00 \$2.00	\$1.00 \$1.00 \$1.00 \$1.00
63621 63622 63623	Basketrý Blown Glass Foam Art	\$4.00 \$4.00 \$4.00 \$4.00	\$3.00 \$3.00 \$3.00 \$3.00	\$2.00 \$2.00 \$2.00 \$2.00	\$1.00 \$1.00 \$1.00 \$1.00
63624 63625 63626	Misc. Crafts - Seeds, Starcraft, Soap Carving, String Art, Puppets, Etc.* Coloring Book Recyclable Craft	\$4.00 \$4.00 \$4.00	\$3.00 \$3.00 \$3.00	\$2.00 \$2.00 \$2.00	\$1.00 \$1.00 \$1.00
63627 63628 63629	Seasonal Decoration Decoration - NOT Seasonal Scenes / Dioramas - NO Legos	\$4.00 \$4.00 \$4.00	\$3.00 \$3.00 \$3.00 \$3.00	\$2.00 \$2.00 \$2.00	\$1.00 \$1.00 \$1.00

#### \* ITEM 63624 - Only open to items that can't be entered into 63602 - 63653

## DEPARTMENT 63 - CHILDREN (6-8 years) ARTS & HOBBIES (NO FRAMES) - con't

<u>ltem No.</u>	Description:	<u>1st</u>	<u>2nd</u>	<u>3rd</u>	<u>4th</u>
63630 63631 63632 63633 63635 63635 63637 63638 63640 63640 63641 63642 63643 63643 63645 63645 63646 63647 63648 63649 63650 63651 63652 63653 63654	Jewelry - 1 item Jewelry - 3 or more items Bead Work Scrapbooking Nature Collections Collections Pearler Beads - 1 item Pearler Beads - 3 or more items Rainbow Loom - 1 item Rainbow Loom - 1 item Rainbow Loom - 3 or more items Single Duct Tape Item String Art Single Lego Object- NO dioramas / kits Legos - Diorama - NO kit Legos - Diorama - NO kit Legos - kit Other Blocks Models - Vehicles Models - Vehicles Models - All Other Gift Wrapping - Birthday Gift Wrapping - Holiday Gift Wrapping - Most Unusual CHAMPION CHILD'S HOBBIES	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00

\* Gift Wrapping MUST be homemade.

## DEPARTMENT 63 - YOUTH (9-12 years) ARTS & HOBBIES (NO FRAMES)

<u>ltem No.</u>	Description:	<u>1st</u>	<u>2nd</u>	<u>3rd</u>	<u>4th</u>
63702 63703 63704	Oil, Acrylic, or Tempera Painting Clothes Painting Plaster of Paris	\$4.00 \$4.00 \$4.00	\$3.00 \$3.00 \$3.00	\$2.00 \$2.00 \$2.00	\$1.00 \$1.00 \$1.00
63705	Free Hand Sketches - Pencil NO color (9-10 years)	\$4.00	\$3.00	\$2.00	\$1.00
63706	Free Hand Sketches - Ink NO color (9-10 years)	\$4.00	\$3.00	\$2.00	\$1.00
63707	Free Hand Hand Sketches - Color (9-10 years)	\$4.00	\$3.00	\$2.00	\$1.00
63708	Free Hand Sketches - Chalk, Charcoal (9-10 years)	\$4.00	\$3.00	\$2.00	\$1.00
63709	Free Hand Sketches - Pencil NO color (11-12 years)	\$4.00	\$3.00	\$2.00	\$1.00
63710	Free Hand Sketches - Ink NO color (11-12 years)	\$4.00	\$3.00	\$2.00	\$1.00
63711 63712	Free Hánd Hand Sketches - Color (11-12 years) Free Hand Sketches - Chalk, Charcoal	\$4.00	\$3.00	\$2.00	\$1.00
63713 63714 63715 63716 63716 63717 63718 63719	(11-12 years) Watercolor Painting Painting - Craft Only Ceramics Clay - Fired Clay - Not Fired Construction Paper Stenciling / Stamp / Sponge	\$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00	\$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00	\$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00	\$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00
63720	Waxcraft	\$4.00	\$3.00	\$2.00	\$1.00

## DEPARTMENT 63 - YOUTH (9-12 years) ARTS & HOBBIES (NO FRAMES) con't

	<b>#</b> 4 00
63721 Woodcraft - NO kit \$4.00 \$3.00 \$2.00	\$1.00
63722 Woodcraft - kit \$4.00 \$3.00 \$2.00 63723 Wood Carving \$4.00 \$3.00 \$2.00	\$1.00 \$1.00
63724 Weaving \$4.00 \$3.00 \$2.00	\$1.00
63725 Leathercraft \$4.00 \$3.00 \$2.00	\$1.00
63726 Metalcraft \$4.00 \$3.00 \$2.00	\$1.00
63727 Basketry \$4.00 \$3.00 \$2.00	\$1.00
63728 Misc. Crafts, Straw craft, Soap carving,	¢1 00
Puppets, etc * \$4.00 \$3.00 \$2.00   63729 Bead Work \$4.00 \$3.00 \$2.00	\$1.00 \$1.00
63730 Recyclable Craft \$4.00 \$3.00 \$2.00	\$1.00
63731 Computer Art \$4.00 \$3.00 \$2.00	\$1.00
63732 Decoration - Seasonal \$4.00 \$3.00 \$2.00	\$1.00
63733 Decoration - NOT Seasonal \$4.00 \$3.00 \$2.00	\$1.00
63734 Jewelry - 1 piece \$4.00 \$3.00 \$2.00	\$1.00
63735 Jewelrý Seť \$4.00 \$3.00 \$2.00	\$1.00
63736Poetry - Matted\$4.00\$3.00\$2.0063737Models - Cars\$4.00\$3.00\$2.00	\$1.00 \$1.00
63738 Models - Trucks \$4.00 \$3.00 \$2.00	\$1.00
63739 Models - Planes & Space Items \$4.00 \$3.00 \$2.00	\$1.00
63740 Models - Any other wooden or plastic \$4.00 \$3.00 \$2.00	\$1.00
63741 Scenes or Dioramas - NO lego's \$4.00 \$3.00 \$2.00	\$1.00
63742 Knex (9-10 years) \$4.00 \$3.00 \$2.00	\$1.00
63743 Knex (11-12 years) \$4.00 \$3.00 \$2.00 63744 Pearler Beads - 1 item \$4.00 \$3.00 \$2.00	\$1.00
63745 Pearler Beads - 3 or more items \$4.00 \$3.00 \$2.00	\$1.00 \$1.00
63746 Rainbow Loom - 1 item \$4.00 \$3.00 \$2.00	\$1.00
63747 Rainbow Loom - 3 or more items \$4.00 \$3.00 \$2.00	\$1.00
63748 Single Duct Tape Item \$4.00 \$3.00 \$2.00	\$1.00
63749 String Art \$4.00 \$3.00 \$2.00	\$1.00
63750 Legos - NO kit (9-10 years) \$4.00 \$3.00 \$2.00	\$1.00
63751 Legos - Kit (9-10 years) \$4.00 \$3.00 \$2.00	\$1.00
63752 Legos - No kit (11-12 yéars) \$4.00 \$3.00 \$2.00 63753 Legos - Kit (11-12 years) \$4.00 \$3.00 \$2.00	\$1.00 \$1.00
63754 Single Lego Project - NO dioramas / kit \$4.00 \$3.00 \$2.00	\$1.00
63755 Other Blocks (9-10 years) \$4.00 \$3.00 \$2.00	\$1.00
63756 Other Blocks (11-12 years) \$4.00 \$3.00 \$2.00	\$1.00
63757 Scrapbooking \$4.00 \$3.00 \$2.00	\$1.00
63758 Collections - Nature \$4.00 \$3.00 \$2.00	\$1.00
63759 Collections I \$4.00 \$3.00 \$2.00 63761 Gift Wrapping - Birthday \$4.00 \$3.00 \$2.00	\$1.00
63761 Gift Wrapping - Birthday \$4.00 \$3.00 \$2.00   63762 Gift Wrapping - Holiday \$4.00 \$3.00 \$2.00	\$1.00 \$1.00
63763 Gift Wrapping - Shower / Wed / Baby \$4.00 \$3.00 \$2.00	\$1.00
63764 Gift Wrapping - Most Unusual \$4.00 \$3.00 \$2.00	\$1.00
63765 CHAMPION YOUTH HOBBIES Rosette	,

## \* Item 63728 is open to items that CANNOT be entered in classes 63702 - 63764

# **DEPARTMENT 63 - JUNIOR (13-17 years) ARTS & HOBBIES (NO FRAMES)**

		-			-
<u>ltem No.</u>	Description:	<u>1st</u>	<u>2nd</u>	<u>3rd</u>	<u>4th</u>
63802	Oil, Acrylic, or Tempera Painting	\$4.00	\$3.00	\$2.00	\$1.00
63803	Clothes Painting	\$4.00	\$3.00	\$2.00	\$1.00
63804	Applique	\$4.00	\$3.00	\$2.00	\$1.00
63805	Free Hand Sketches - Pencil NO color	¢4.00	¢2 00	¢2 00	¢1 00
63806	(13-14 years) Free Hand Sketches - Ink NO color	\$4.00	\$3.00	\$2.00	\$1.00
00000	(13-14 years)	\$4.00	\$3.00	\$2.00	\$1.00
63807	Free Hand Sketches - Color				
62000	(13-14 years)	\$4.00	\$3.00	\$2.00	\$1.00
63808	Free Hand Sketches - Chalk - Charcoal (13-14 years)	\$4.00	\$3.00	\$2.00	\$1.00
63809	Free Hand Sketches - Pencil -NO color	ψ4.00	φ0.00	Ψ2.00	ψ1.00
	(15-17 years)	\$4.00	\$3.00	\$2.00	\$1.00
63810	Free Hand Sketches - Ink - NO color	¢4.00	¢0.00	<b>\$0.00</b>	¢4 00
63811	(15-17 years) Free Hand Sketches - Color	\$4.00	\$3.00	\$2.00	\$1.00
03011	(15-17 years)	\$4.00	\$3.00	\$2.00	\$1.00
63812	Free Hand Sketches - Chalk - Charcoal				
	( <u>15-17 years</u> )	\$4.00	\$3.00	\$2.00	\$1.00
63813	Watercolor Painting	\$4.00	\$3.00	\$2.00	\$1.00
63814	Painting - Craft only	\$4.00	\$3.00	\$2.00	\$1.00
63815	Ceramics Clay Fired	\$4.00	\$3.00	\$2.00	\$1.00
63816 63817	Clay - Fired Clay - Not fired	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
63818	Sandcasting / Sand Art	\$4.00 \$4.00	\$3.00	\$2.00 \$2.00	\$1.00 \$1.00
63819	Stenciling / Stamps / Sponge	\$4.00	\$3.00	\$2.00	\$1.00
63820	Waxcraft	\$4.00	\$3.00	\$2.00	\$1.00
63821	Woodcraft - NO kit	\$4.00	\$3.00	\$2.00	\$1.00
63822	Woodcraft - Kit	\$4.00	\$3.00	\$2.00	\$1.00
63823	Wood Carving	\$4.00	\$3.00	\$2.00	\$1.00
63824	Pyrographics Wood Burning	\$4.00	\$3.00	\$2.00	\$1.00
63825	Léathercraft	\$4.00	\$3.00	\$2.00	\$1.00
63826	Metalcraft	\$4.00	\$3.00	\$2.00	\$1.00
63827	Basketry	\$4.00	\$3.00	\$2.00	\$1.00
63828	Misc. Crafts, Strawcraft, Soap Carving	<b>\$4.00</b>	<b>AO OO</b>	<b>\$0.00</b>	<b>\$4.00</b>
62020	Puppets, Etc *	\$4.00	\$3.00	\$2.00	\$1.00
63829	Graphic Art-Design, Posters, Word	¢1 00	¢2 00	¢2 00	¢1 00
63830	Illustrations, Calligraphy Received able Craft	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
63831	Recyclable Craft	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
63832	Decoration - Seasonal	\$4.00	\$3.00	\$2.00	\$1.00
63833	Decoration - NOT Seasonal	\$4.00	\$3.00	\$2.00	\$1.00
63834	Jewelry - 1 piece	\$4.00	\$3.00	\$2.00	\$1.00
63835	Jewelry Set	\$4.00	\$3.00	\$2.00	\$1.00
63836	Poetry - Matted	\$4.00	\$3.00	\$2.00	\$1.00
63837	Models - Cars	\$4.00	\$3.00	\$2.00	\$1.00
63838	Models - Trucks	\$4.00	\$3.00	\$2.00	\$1.00
63839	Models - Planes & Space Items	\$4.00	\$3.00	\$2.00	\$1.00
63840	Models - Any Other Wooden / Plastic	\$4.00	\$3.00	\$2.00	\$1.00
63841	Scenes or Dioramas - NO Lego	\$4.00	\$3.00	\$2.00	\$1.00
63842	Pearler Beads - 1 item	\$4.00	\$3.00	\$2.00	\$1.00
63843	Pearler Beads - 3 more items	\$4.00	\$3.00	\$2.00	\$1.00
63844	Rainbow Loom - 1 item	\$4.00	\$3.00	\$2.00	\$1.00
63845	Rainbow Loom - 3 or more items	\$4.00	\$3.00	\$2.00	\$1.00
63846	Single Duct Tape Item	\$4.00	\$3.00	\$2.00	\$1.00
63847 63848	String Art Lego - NO kit	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
63849	Lego - Kit	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
63850	Scrapbooking	\$4.00 \$4.00	\$3.00	\$2.00 \$2.00	\$1.00
63851	Collections - Nature	\$4.00	\$3.00	\$2.00	\$1.00
63852	Collections	\$4.00	\$3.00	\$2.00	\$1.00
		+ ···••	<b>~ ~ . •</b> •		÷

## DEPARTMENT 63 - JUNIOR (13-17 years) ARTS & HOBBIES (NO FRAMES) con't

<u>ltem No.</u>	Description:	<u>1st</u>	<u>2nd</u>	<u>3rd</u>	<u>4th</u>
63854 63855 63856 63857 63858	Gift Wrapping - Birthday Gift Wrapping - Holiday Gift Wrapping - Shower / Wed. / Baby Gift Wrapping - Most Unusual CHAMPION JUNIOR HOBBIES	\$4.00 \$4.00 \$4.00 \$4.00 Rosette	\$3.00 \$3.00 \$3.00 \$3.00	\$2.00 \$2.00 \$2.00 \$2.00	\$1.00 \$1.00 \$1.00 \$1.00

### \* Item 63828 is only open to items that CANNOT be entered into classes 63802 - 63857

#### **DEPARTMENT 43**

#### ADULT ARTS & HOBBIES (NO FRAMES)

# Superintendents: Carrie Trinkle (734)368-1556, Sheri Spears (734)320-3929 & Michelle DeFant (734)433-0165, <u>Lsophiajewels@hotmail.com</u>

<u>ltem No.</u>	Description:	<u>1st</u>	<u>2nd</u>	<u>3rd</u>	<u>4th</u>
43005 43006 43007 43008 43009 43010 43011 43012 43013 43013 43014 43015 43016 43017 43018 43019	Free Hand Sketches - Pencil NO Color Free Hand Sketches - Ink NO Color Free Hand Sketches - Color Free Hand Sketches - Charcoal / Chalk Ceramics Pottery Clay Sculpture - NOT fired Stained Glass Weaving Stenciling, Stamp / Sponge Pyrographics / Woodburning Wood Carving Leathercraft Metalcraft Basketry	\$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00 \$4.00	\$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00	\$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00	\$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00
43020 43021 43022 43023	Misc. Crafts, Strawcraft, Soap Carving, Etc. Beadwork Computer Art Graphic Art Design, Poster, Word	\$4.00 \$4.00 \$4.00 \$4.00	\$3.00 \$3.00 \$3.00	\$2.00 \$2.00 \$2.00 \$2.00	\$1.00 \$1.00 \$1.00 \$1.00
43024 43025 43026 43027 43028 43029 43030 43031 43032 43033 43034 43035 43036 43037 43038 43037 43038 43039 43040 43041 43042 43043 43043 43044 43045	Illustration, Calligraphy Recyclable Craft Decoration - NOT Seasonal Decoration - Seasonal Jewelry - 1 piece Jewelry Set Poetry - Matted Woodcraft - NO kit Woodcraft - NO kit Woodcraft - Kit Models - Planes & Space Items Models - Cars Models - Cars Models - Trucks Models - All Others Wooden / Plastic Sandcasting / Sand Art Scenes / Dioramas - NO Legos Scrapbooking Collection Waxcraft String Art Painting - Oil Painting - Acrylic Painting - Tempura Painting - Watercolor	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00

# **DEPARTMENT 43 - ADULT ARTS & HOBBIES (NO FRAMES) con't**

<u>ltem No.</u>	Description:	<u>1st</u>	<u>2nd</u>	<u>3rd</u>	<u>4th</u>
43046 43047 43048 43049 43050 43051	Painting - Clothes Gift Wrapping - Birthday Gift Wrapping - Holiday Gift Wrapping - Shower / Wed / Baby Gift Wrapping - Most Unusual CHAMPION ADULT HOBBIES	\$4.00 \$4.00 \$4.00 \$4.00 \$4.00 Rosette	\$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00	\$2.00 \$2.00 \$2.00 \$2.00 \$2.00	\$1.00 \$1.00 \$1.00 \$1.00 \$1.00

\* Item 43020 is only open to items that CANNOT be entered into classes 43005 - 43051